
Where does this line intersect xy plane?

7=0--7 C-= { ✗ = 21-3=5

y
= -4+12=-72

(9-72,0)
-

How to describe planes :

In 3-of every

plane has a

unique orthogonal

dirtier
.

We call a vector ortho to place a normal

vector
z

2- =3É normal vector:

40,0, I>
y



What is it perp to? all the

vatos tangent to the plane .

Take
ay

two points on plug forum

displacement vector
.

PL.IS, 3) Q (3-9,3)

POT = (2-3
, -9-5,3-3)

= ¢-1 , - 14,05

L - l
, -14; o> . Lo, or> = o ✓
-

Planes through the origin :



4- =

•
= 444,2-7

0=8 . 00T = ( a,b,c> • (x,y, 2-7

axtby+cz
(

equator d- a plane through
origin with normal vector (a) b.c) .

More generally :

plxoiy.ro ÑQ - Lx - xo, y- yo, Zazi

O= ñ . pot - acx-xdt.by -%) tccz -⇒



alx-xosi-bly-yoi-ccz-zo-cflseqw.tn
of Mine w/ normal

5=46 ,bit

thrash Plains to)

ax 1- by 1- CE = axotbyotczos

d

ax+bytcz=d@
↳ equation of a plane w/ normal

Lais, is
.

How
many pounders to de sable a plane?



two for the director of named
.

one for which phone theme promotes .

Almost set this by

esng.ua#uomnbIn-l--1

La , b.→ →
3
demons

atthird =L down to two pours.

But there are two unit uonds

g-
a-



E. g. Find the plane thru

P - Cho, 2) 4=(-1/3,4) R= (35,7)

v7 = POT = (-2,3/2)

i = ppt = ( 2,3s )

ñ=ñxJ= (15-10) I - (-10-4) J + f- to -6) I

= 55 +14J -16 I

vi. (44,2-7-41,927)=0

s(✗- 1) + Hy -16 (z -2) = 0

5×1-147-16 2- = 5-32 = -27

-

E.g. Find line of intersection between

✗tytz =\ ✗ -Zy 1-3 2- = I


